Correlation – Mark Scheme
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Notes

(@) [ M1 for a correct expression for S, or Sy (May be implied by cither correct answer)

1AL for [Sw]= —49 .
AL for [Su]=awrt 74.8 SC If both values correct but clearly mislabelled award MIAOAL

(b) [ 2%BIft for multiplying their S, by 1000

()| M1 fora correct expression using their values provided S and Sqs both > 0
Al forawrt—0.801 (Correct ans. only MIAI, — 0.80 with no working M1A0)

BIft  foracorrect comment that uses their value of r as support, provided 0.5, |r],, 1l

For || < 0.5 comment must be “does not support”, because “weak” (0.¢.) correlation.
NB “points lie close to a straight line” is BO unless supported by mention of their value of

(d)

(¢) | 1" M1 fora correct expression for b or awrt ~0.66 or — 0.65 Ft their answers from (a)
27 M1 fora correct expression for a ft their value for b
Al fora correct equation in w and f only with a = 20 or awrt 20.0 and b = awrt - 0.655
(No fractions)
1f their a and b are given to more than 3 sf, accept answers in () to 3sf or better.
(| 1*BIft for correct c or “their 20.0°x 1000 2* BIft for correct d or their *- 0.635”x 1000
Values canbe inans, req’n orc =, (Their a and b needn’t be to 3 sf and ft their letter for 1)

(g) | Blft_for stating clearly both decrease (o.¢.) and [£] 655. Ft their d and allow “increase” if d > 0





